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Lesson One -

BFERSET
I. BEMFER
1) BRBEFEBRERE, FREFEOTHE I B
MELREENE, AREELTNSAESHTENES,
2) YifE as {EN BB R,
2. ACHE
1) comprise
a. Atoms comprise (= make up) all bodies.
b. Our course of study comprises (= consists of) politics,
English, chemistry, physics, etc.
2) formula
Hh3kiE), HEEAR formulae, ‘H_J,"]'E formulas,
. 8) remain f :
a. In any transformation of energy, the total' amount of
energy remains (= continues to be) constant.
... b. If you take 3 from 8, 5 remains (= is still present).

8. ®%rE

1) (%-—Bt) Any chemical process in which certain sub-

stances are converted into other substances is called a

chemical reaction,

Ay EEAE, RARFEEAFERRE. XA
3. A rectifier is a device by which alternating current



is transformed into direct current.
b. A single force may be broken into two or more forces
to which it is equivalent.
2) (3 =B) They react to form carbon dioxide as a pro-

duct. "

R RAE T B R

8) (#8=8) Furthermore, the reactant formulas are se-

parated by plus signs which are not intended to mean
a mathematical' plus but rather should be interpreted
as “‘and”.

RZAME T EEH R E,

4) (% —B) These changes occur as chemical processes.

LAV L

as RENAREUTHMAER:

A. 55—z, in regard, define, consider %N,
FIHMMAAERERENREREENEE, W,

a. We consider radio waves as radiant energy.
.b. The atom of any element is pictured as resem-
bling the solar system.

B. #AENHER, SN EE - ROEAEE, .
a, Electricity is especially convenient as a means of
» mechanical power.
b. Metallurgy as an applied science treats of the
deriving of metals and their special properties.
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RXBHIEX
kERESHKEFER

TERAARLEY. A, FEUEYHEIERARE
WITEH . XA RIE AL R R AN REY RS —
Sl R A BRI B R . FERERET, RN

- BRI R 2 S A RN (R TR R B A R BT . AL R

U RBFE S BB AMB L ROER. BRARREYN
HERT (BT, BTRS FIEX LRI LEY, BRRER
Y. :
BEMAERNAMMERTNIGARMRIIOFTRE XL E.
RYKBEAFHERBEH S TR SRGERGMRN-
R E R 2 R A B I R A R AR AR, T 59— BTl R AR 1R

R, R RIEA Y RN, TIAMNERDQERAES

ML R . b R ] T ZE AR B TR Bl W S 24 IR
Ho KBBRE—HBRHANAERE; TEOERYPEET—R
PR L Y .

162 5 RS HE U R SR AR R R . B, M RAT
MRS, TEMREYEBRSSPHE, CENERNEY
BAERY BB B, RO, RARRNEER= &4 3.
EARRE {2 R AT R A B BB e B R ER MR, LEHBR
DA RN YMERYRERBS TR, T EERREYKS
FRA 7 BHTF, EA 7 BHAERBL LK AT, TR

. BRNRTHRE. ERPRSTREAY"EHIF. REHA

HEBMRE L “-—" 54T, FLERRHRETEE, SR
B M-S, ¥ T LRRMEAZ HNRE, K&EhHB

8



KT,

1.

C+0,—COs

b R, RSP RS THRTEASHEE
ok, MASPHERE, BHAZRKZIFSETHKNAE. BT
B, REHFT&SMTERAERTAREREAT. BTRT
B R EA B R, BALHAE X, ﬁlﬂ:ﬁ)&i%
HRRELASETERYNERE.

1)

_2)

3)

4

2.

A :'6)

)

| 8)

1)

g

4

HER

A compound can be decomposed into the comstituent
elements.

We call the initial substances reactantsin a chemical
reaction.

Yes, it does. .
The main chemical reactants are carbon and oxygen
gas in the air when we burn charcoal.

A chemical reation can be represented symbolically by
a chemical equation which includes the proper formulas
for the reactants and the products. -

The symbol ““arrow” means “react to produce, }held
or give” in a chemical equation. ' ,
Certain chemical bonds are broken and new combina-
tions result in a chemical reaction.

No, ‘they can neither be destroyed. nor created in a
chemical reaction;

are used 2) should be interpreted
occur 4) are separated -



are occurring 6) must be included

involve 8) are involved

d 2)e 38 a 4 f 58)c 6)b

F 2)T 3T 4 F 5 F 6)F 7)) T 8)F
The chemical equation C+0,—>CO, indicates that
carbon reacts with oxygen to form carbon dioxide.
Substances can neither be created nor destroyed,
but they can be changed from one state to another.
Changes of reactants into products involve the breaking
of initial chemical bonds and the forming of new chemi-
cal bonds. ‘

The burning of wood is a simple chemical- reaction,
whereas the growth of a plant is a series of:complex
chemical reactions. o

In a chemical equation, the reactants and products are:
separated by an arrow. L H

A chemical reaction accounts for the: rusting of

metal, the burning of fuel and the formation of

petroleum.

will change ‘ 2) are, possesses

are called . 4) transmits

is beinz built 6) causes (can cause)

can represent 8) is, have been absorbed
will take place, are 10) thought, was

brought .

Chemical symbols are used for representing the

composition of a compound.



2) In doing an experiment in chemistry great attention
must be paid to the reaction conditions in order to
get good results.

3) Electronic computers are often used by scientists,

especially by physicists and mathematicians.

4) A chemical reaction can be described by the indication f
of the reactants and products.

5) Heat and light are given off by some chemical —
changes. '

6) The young scientist is improving his new invention.

7) This waste gas will be made use of to produce
heat.

8) The plus signs separate the reactant formulas. -

9) We have been supplied with a large amount of crude
oil by these oil fields. ;

10) The temperature as well as the pressure of the tower

is measured by us at nine and eleven every

morning,
: . .
; MRS %E L
? I i
ftE IR PRHWAEE

AEABPHHMREEEYFEL: “B5H°E A7,
B — A 16 0 Y VR A R W« Ry (RO T DA A& He
BUREALIR N IR 2" BIR B 57 300 ¥ AL AL TR B e SR K3 4% 2 IR,
TRALRA B R, EARYNRE RS RIE, B2
6
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HRRER M TR RS LB e, RERRR e E—
WA RS R — R,

R, EMEZEALTRRIS LSRR ERYBRARE, AMITHR
BMERABEAZ THARY, ERESE TR R
RAZBITERN" BB, RBRATE—E TSR R
PR R N ks ERBIORE”, B TR. RELH
B, REEAERL, M, KFEM, % 500°C 10004 K
SEMERENNEET, UESLABSHENS, HREF
BLZATHUSBARE. TH, XESRBEX M BRN R

AEESE, RAEBVFHARSREFFHEBXRE, X—8

FRIARERT .

ETBARRE, BH—PBRREDRR—EHE
W R A T AR IR, TES KETH B AR
WEFPEFER. NMRANEELREHHRS, HIERA
SRGMILR, WAHEMBKEHIR. BRIAXFIFSR N IMEL
MR ESRHMAS, HE, HEZFREEILA /DA™
ENXHIIRNBE, F-MWRENEILSSARETE. BN
MHERRREFLFY, FUNENTHRTHITORENRA
AR o WRFELER N FEILA/DRTARILBH, BB
BARSHER.

II
: 6 % 5 B i B
A R HTE R KR, BFER N R E,
FRRMEE. BRPET RN REENBEE RSN —REBR

Ro MMBAMBBRBUE—MT. ZFPAERETEIHER
REWEEFARER. XERHTERETSEERBTERRELE

?
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Lesson Two

HHERGETR

1. BHFER
— 1) BRSO A R EIERN A TEE KR
2) W% 3,6,7, {igERBRBUSEHEHEL,
2. \HiCHE

1) somewhat

a.,

b.

2) just

This machine is somewhat different from that one.
In this respect, the computer is somewhat similar to
the human brain which also stores information that
can be retrieved as needed.

Trying to hit a nucleus with a proton-neutron bul-
let is somewhat like trying to hit a particle of dust
in the air with a rifle bullet fired at random, when

there are only a few particles of dust per cubic mile.

" T just can’t help thinking of things made from plastics

as
3) in

a,

imitations, as cheap substitutes.
spite of
In spite of (= despite B in despite of) all its ac-

complishments, the so-called electronic brain must
be programmed by a human brain.

In spite of everything a laser can do; the pulse from.

9



the largest laser ever made doesn’t contain enough
energy to boil a kettle for a cup of tea.

4) nothing more than

Most machines in the workshop were automatic, so L

saw nothing more than twenty workers there.

3. ®EAE
1) (35=Bt) “That can make it possible for us to enlarge

a drop of water enough to see one single atom —
atoms are so very, very small”. AjHhg “it GERNEKE)
+EEHREHAER (HRERB"HWEH, XH:

‘a. There is the micro-electronic instrument that makes
it possible for the blind to read conventionally
printed magazines and newspapers.

b. Electronic methods make it possible for information
both from within the control system itself and from

outside sources to be electronically processed.

2) MR “It takes + sb. (sth.) +n. (Bid) + inf”

a, It would take three weeks to tell you the whoie story
about oil.
b. It took him only 10 dollars to buy a radio.

c. It took him two weeks to finish the scientific experi~
ment.

8) A& “adj. + enough + inf”

a. Owing to the invention of the laser, man has built
a light strong enough to illuminate a zcelestial body.

b. This transistor radio is small enough to be held in
the hand,

- ¥

* Ty
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BXSEFEX
R F

—AMABEFRLBART, RERR—ACHERERFILE
BEEHABERINENE P RBN —HK—H. hTUERRE
K ERE—RBO LR, HEMRATEE B AWM K.

SHABHLKE: SHFSERTHERRKN, RIAME
BIACIERY—BE T H—HK. BR, SXOBENTEE
—WKBRB R UM RNE BBNRTRORE, IRANRTLR
FEHZ Do ULE—FHAKBERKAFIZ X 10° RF, BIPHF
RTES, 30009 R HE M E 18 A1 KB, MRE—DHER TR
F, WLIBRH Y, BXAZWRTEESINER? BE 10
1 ARMNTHANNE—BAKFHRETRELX 4 KKK FE
B, BIOMESFHARBRTRES QB

MRBANEARXA/MIRTREUBRFRE, BARE—
TARIHER. EMA, BEREAMBHAERUARET
R AR

R, RERETEAD, FIR—FHEKE) LERERABLH

AUFH, RMNERTURD—EHLHENRTER XMHER

RRNGEES . BHXABRY, ROTEEFRAZRUE
RATEE S I R
ERITKNE—THARTRRERN—F—ART. &
BEH, RERRRBOSK. 48, ANERERRS, #HAL
BALEYRRE R,
RIVERA ASE S RMIRE TR 2 ZEH) F— L A2
EARBER, MBEENER 32 B, X— AT ER S
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